Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

D Paper : V

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘D’, then he/she should fill up ‘D’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘D’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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71 09:55 JHIT HITS LHPITOI e |

OMR €3 “1q9 IYR JBWH® Wa Te05! e 917 S9ITS &miht ARG A 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC] a5 ol
R TS | RICT 2[RI oS /e “Iqe sl 3 Je 1903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o R FHNT AN (9 LAWEAT B4l (rough) FW eEFIFos il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers I G | Teq 7[aqo I
@2 Y541 (rough) PN *HIFE T, (SRS T (ST T&T #[@q Jeie 341 7927 |

o S 2T AT AHIF €= NG OMR T&T “[@rz 7l 27 | G 2 I Wam IRIA
SReRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=If@ ¢z g OMR Ted “qe
ERJFOT T, LFTOT T, B AR @ ATl /F 2N -5 (I 7 Pl
R |

® ST Y 2 T HF eWFFoe 100 b & AR AT TS0 &R @ 1.50 THIP
2 |

o & TG AT (PITA! AN 729 T |

® SIF(AIRIR ©2 T[T @ AFINET OMR Te 2[qS &l /F 3l @1-936 (02 T2
A AN |

o “RrFIi (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o T BRAG! | @2 (S ARG A TRFIS @I 470 s 1z 3K
(oIS SRR 27 Te BRAMG TRFREDBIR2. 2T Wi e 9o A |

Important Instruction :

o T fafve 2l Ttw TTe eNFITE $'T TG OMR Tes g S 5i%® forat 27 |
TR, AN 4= 9 LAFIFOI T <D’ QfFe OMR TEF 44« w3 diZ® D’
foriRa anfor =i e 3@ D Tt a1t Ffa7 AR | erpies et s e s
TR TGP Sl IF QRHToL Feie A 37 |

o 2SI T GJil FIT WICS 2_HIANT HFT o© OMR TEGF [ TS LRFITOIE
ol v AR | SepRt sfwiEiem SpritEs 3 Rt 27 |
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I 09:55 BRI TS aB &= 1l |

OMR &3 “taq 3L Jebre W Terih e TR 7t erifh R #1to 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrHFiaE R e ToRERs /@I #Ita YA FHFA 0o 2, 2RI O 2100
FCF P 2429 FAF T R ORI OMR T@d2[@ @3k 2#afb s ol (redid
AR | (I AR ST /e #itq A TSR FE 1 T, SR Ot oIS 0
/e[y T 204 |

o ST T GHE ARG T (rough) TS 2PE#TE (S| BT FACS AR | 21 qri
2T (rough) IS TG 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) FT& TEIITq FCA, OCF G2 TELICGH TeNRE Pl 24 1 |

® 7F IR & ANFIANET ¢ g OMR Tea7@ (e @ | G T A Wa TR &
SR (e Teaig (e I A |

® 2R[(TF A €6 OMR Te°l@ (eq 2@ | Aa=FINcs (12 (8 OMR TeReiq emitas
T, ePEITR (T TSI AR WY 11 /FICE IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2p A 3R TSP &TT &) 1.50 797 0T A
R |

® o TG T (I YOI FI AP |

® 5% O (FTF G “rHIE OMR TG0T 1161 /I I - @B (7] 2T FACS 2(A |

o IR ST R T ATS 2@ @ WA 2Bt IS 2@ | @ - SR,
AR, AT, TR @R TG | @3 CHG TGN ORI (I LR SERS T ([@I0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o *JArwTy iRee 267 BT ATS eRotEd (I THAG OMR Ted7itad e B @t = |
Triizgera, AR ST eieltad (IS ‘D’ AFE OMR $6390a7 R 2 D’ forites 23
R B 38 D’ T I T700 2@ | eIt (I ST GG SRR ek R
TR0 R GR =D I FACS T |

o ! T Is TR e A (NAFCPI ACS OMR T@geitas Aozt @rieiaiG e fires
2 | & 1 e SR S I Rt 2@ |
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame Seer
T 3riTe @umRTe TifE dFE JHE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsf amew 3 gars
WA 3T&AT TSI ST BT AT €T e/ SHTd ST |

o fsarrEmn el MaE Y@M THT ST rough FERET GiFM™ faaTgamas ! @l g |
feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
feeTsama 3¢ 9 rough FERE @A 376 R feTTE@! UM WA SR ST |

o TTHE FHEMA U™ ferEE THe” OMR A= faeme A wrme | mRf Seen 19
o St st forar ferette @ s 9= |

o T faags armE TH OMR T faag gmm@ sme | femmeamn &8 &1 OMR
ATATE AT - : TR foerst Tmr om0 d@im foemst &', waft w's smfe safeet
e el TS T S-St ot T |

® HIEH THT 2 U= IR A fSelgard W9 100 HifY U= 3T WFhHE! JiFEE-l e
TRt e 1.50 T YW |

o I fFrafy aram™ Set g’ war 19 |

o foHERT OMR T faretmgema @t fier TR W Seu-siEl e Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taie SIFTH, SR e, s7ar, 9, &< A1 3UiS | o ST Jres sl T BiEeEE s -
St TET GRS TSI ST SUSTE BIATaHRGE T A1s BT 851 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
T g A | fafefr anfed femreramen wiemm wiem e %'e <D @t feam faemef &
R G e &'er ‘D’ oAt Arna ot for st e e A |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® T 3T o foTU whig TehRIceh 3k =i gnm |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /ST TR T @ | SeTeuRaEy, e udenef fi wva gfere @t @i ‘D’ @, @ OMR
IW-U= | hig ‘D’ fera 2nm 3R 9= D’ =Rl Hien A1 2w | afe uvA yfeent § 8w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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1. (ieTRre ST +q1 TRIFHS e S et 7@ w1 e 4 |

(A) @ 9N 9 [T (B) Teifetlerer '3
(C) =E ™I (BeTeesi= (D) afe ChfeTcmial
1. 90 SEire (@G TRIFI SRS S ghai (Seibpier GlReier) 2
(A)  @H-9¥ 9G¥ — [TTH (B) oniferfors eia
(C) 2ITo1 TR 7w (D) o 7= al=
1. TEE Se3T STEMISTE S BT et g ?
(A) T TH TH-=A (B) Teffer T
(C) T FwEim gHfe (D) ufew gifem
1. Tr=afaRea § @ wF srafe o wnfya stifese Sofiepa 1AM 2 2
(A) TR TH T — = (B) Trefiferat sta
(C) &9 TH AT (D) Ufed" efiehid
1. Which of the following is the name of the optical telescope in space ?
(A) XMM-Newton (B) Galileo probe
(C) Hubble Space Telescope (D) Edison Telescope
2. *qI2A0I 39 TS 7L o T [ErS (2 |
A) T (B)
(C) PR ) BERICRIS ARG (]
2. *RIRAIGA Ta RARE DS TRFF 4R
A) T (B) oI
(©) AMPR (D) AR Rerét
2. IIEHTE AR AT SREpeh SR T ToRTa SR 7
(A) HRFwer (B) T
(C) THfEs (D) sfeqar Raersi
2. UUSHR 6 ASE AT IRGehd IR & A I 18 ot |
(A) R gEen (B) s
(C) T foE (D) feqar faesht
2. The battle of Saraighat was fought between Lachit Borphukan and
(A) Mir Jumla (B) Turbak
(C) Ram Singh (D) Bakhtiyar Khilji
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SIS FHT! FieTe LLFTFIE @FCH! BT 2[ (RIS TR T 2

(A) =AeTReal (B) gl s

(C) M Sa (D) e 55

SIFCSR LTSI FH TSl MR 2NE] (i 2 (TS SIS AR T 2
(D) =eTCPa! (B) 3geIfs o3

(C) O™ &3 (D) e &

SHITh S IRat 3l T@ETter, TR JiST §e IRk gt e fasfer gr 2
(A) e fepert (B) Tregufd werd

(C) @& Wed (D) sfveaie

W % e Taaid feed 0, T TP o1 S&i § Geiierd ohid @ ;

(A) e fepert (B) Tgdfd werd

(C) @& WeH (D) sfeane

On every Independence Day of India, the Prime Minister addresses the
nation from :

(A) Red Fort (B) Rashtrapati Bhavan
(C) Parliament House (D) India Gate
ST M99 I=NCE! GFRINT A wifee

(A) I (B) it

(C) == (D)

ST 9N TRATSA @I ST FIO! (SN ) 297 -

Q) IR (B) TR

(C) ==t (D) e

Sffer Tt frfafem Teams e |

(A)  FTHRT (B) Wt

(C) ww=n (D) 3m=m

Sifer T ST UEAT TeTEH o

(A) FriHeRT (B) mmferft

(C) wm= (D) Fmm

The First album by Zubeen Garg was

(A) Anamika (B) Mayabini
(C) Maya (D) Aasha
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5. ‘“qeredfzal” 9 IoRe! i e 2

Aa) TEe (B) xR
(C) TG (D) <+
5. “arereaml” e :
A #Ha<s (B) =™MS
(C) drreg (D) er=e
5. Terahmoft i forfift smaw ¢
@) TEH B) A
(C) dmmvg (D) whHegu
5. ‘Tl fopereh gr foreht 8 oft 2
(A) g (B) wrd
(C) g (D) ey
5. “Rajatarangini” was written by :
(A) Shudraka (B) Jayadeva
(C) Banabhatta (D) Kalhana

6. TR 127 [CoTe FTHAT GF SICH[ gl ! ?

A) TR (B) APl
(C) TEFTTH (D) FR'E
6. i STERI GRS FRSObIER WIThe[s oot 2
(A) e (B) PR
(C) TRFCTH (D) SFIEE
6. TR S« AHEST H‘H‘gﬁ'&l (computer) T 78 T JATTY (output device) ?
(A) =™ (B) @t
(C) HISHIBH (D) =hieitg
6. Frferiaa 3 & oyt 1 Fseye feag@ wA @R ?
A) ws® (B) Tt
(C) HTgshIBH (D) whiste
6.  Which of the following is a output device for a computer ?
(A) Mouse (B) Speaker
(C) Microphone (D) Keyboard
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foaferire (I ARSI Tolies it SibiRet 2« (el Kol T4 =7 ?

Q) A9 g s B) & T

(C) wRIET el (D) “Iffoxs

0 S (i e goiferei aifbimes e [aibe & 2

Q) AR lieiie o (B) ey oot

(C) SR ol (D) ~*6% 9B e
TR S8 FHHETNGE! SeRHE 5 T SHM g5 R ?
(A) YR YSIT FHET (B) foean greimmEi
(C) 3ITraet BTSHTETR (D) GHEI H1e
Frerforfia 3 & 9 o T sfarer spmfer 2 & T o T 2 2
A) IRueE & B) faai™

(C) I IS (D) gt =

Which of the following mountain range is geologically considered the oldest ?
(A) Pir Panjal Range (B) Vindhya Range
(C) Aravalli Range (D) Western Ghats

2024 B9 AT SRAPFL (2o 52T TS 77 2

A wike (B) e
(©) TN (D) =
2024 AR AT ST (Fiel *127 NS A 2
(A) e (B) %
(C) SITHRCN D) g
2024 Tl SRR SATTTHE! o TTHTT ST ?
A) Ut (B) wied
(C) weEH (D) Sft@
I AT I 2024 WA 3Tl ht BT i ?

(A) uRE (B) e
(C) wEH (D) waf@
Which city will host the 2024 Summer Olympics ?
(A) Paris (B) London
(C) Amsterdam (D) Zurich

SLRC-2022/P-V/D 9 P.T.O.



9. EN @I (R IS 52 ?
(A) el (B) FrferoizTz
(C) A (D) ARETY
9. IfTE I (TR Areiell *12F ?
(A) ST (B) i
(C) Zrwit*rnl (D) «AZETS
9. T 9 BTeUH TSITaf T ?
(A) TR (B) freffi=a
(C) gSHfmm (D) 9rseis
9. Tflelm TSI IR |
(A)  TARET (B) Trefidig
(C) FSHfRRmEn (D) orsets
9. Manila is the capital city of
(A) Malaysia (B) Philippines
(C) Indonesia (D) Thailand
10. =Gre G~ G w@fes
(A) Flee! (B) =g forat
(C) TR D) P
10. 351 S0 (TG Tii=sfeT) SRfES
(A) TETRrS! B) e
(OERCIES (D) TSIl
10. eH U AT E ?
(A) I (B) e feeett
(C) =i (D) Tt
10. e oud wTEf fRa 8
(A) RIeTehTl (B) % feeeht
(©) HE (D) e
10. Lotus temple is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal
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11. s @G spififes SiFhios AR@e A ARl TR 2

(A TR (B) 3sftpq

(C) “Iwgw (D) TSP
11. R @l wififes Siphisfbre e g 2 ?

(A) 9 B) 3fePa

(C) ~%gH (D) ANSRE =Fq
11. TEREH S« AT 7etet fom sty amn ?

A) TeE (B) =i

(C) ImETfran (D) fom gsetrg
11. frferiaa 3 & form senfirdta smmepfa o gumia gemd 7 & & 2

(&) wEEg (B) =

(C) =S (D) HHIAT I
11. Which of the following geometric shapes does not have parallel sides ?

(A) Rhombus (B) Square

(C) Pentagon (D) Parallelogram

12. ST ACSIT (3o YRS AT (b T8ve 7= ?

(A) AREFR (B) WHER
(C) EBE D) =BT
12. T90 @RS @G St ok efeiisre! w7 ?
(A) JGRFR (B) TIRES
(C) TTHET D) & E
12. TEREN S99 JAfets IHEEE SRR (Olympics Swimming Event) &t ?
(A) W (B) ShEI
(C) =& (D) sihEIeh
12. fr=forfad # & F @1 foehe STeifiens queht Sfaeifitar & smite & 8 2
(A) RS (B) SHEH
(C) s&EH (D) SIhEIh
12. Which of the following is not an Olympics Swimming Event ?
(A) Butterfly (B) Backstroke
(C) Breaststroke (D) Breakstroke
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13. e @ee a7 ©Red FRITSS TiEF e ShEs ?

(A) FIES (B) TsMEd
(©) i (D) T2

18. ey SrarfreT S (b Siees STl nisaicps w1l ?
Q) FER (B) TR
(©) i (D) T2

13. TERM 31 WRAT GICTIRSTE ™ ST 7
&) el (B) Tierr
(C) e (D) WEE

13. T=ferfaa o @ s = 7<) wRa i ga greqoft 741 2 2
&) el (B) Tierr
(C) e (D) wEwC

13. Which one amongst the following is the southernmost river in India ?
(A) Cauvery (B) Godavari
(C) Narmada (D) Mahanadi

14. TFEISIe Sfew e 4y 2Fs FF ?

A) it (B) s

(C) l-9= D) =
14, SICRA (T S O AWy ST HCH 2

@) Fee (B) el

(C) <o (D) =<1
14. TS®IHT 99 STEFTS MEER STTER STY @ JRier= ?

&) T (B) foems

(C) =wiTf (D) Wi fa
14. T AU QT FhE W H Iq= Hd & ?

@A) Se (B) it

(C) @ D) B
14. In which part do plants produce their food ?

(A) Roots (B) Leaf

(C) Trunk (D) Bark
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15. % 3% Wig2a *<1 T SreoF AP (2R

(A) 36-1°F—37-2°F (B) 36-1°C—37-1°C
(C) 97°C—-99°C (D) 48 °F—51°F

15. GG LI GRF N *AER SRS Soa «/fkeme 2 -
(A) 36.1°F—37-2°F (B) 36-1°C—37-1°C
(C) 97°C—-99°C (D) 48°F—51°F

15. T8 W G CaTH SUE-TE1 GUTS3T SE
(A) 36-1 °®T — 37-2 °HI (B) 36-1°0—37-1°%
(C) 97°H-99°H (D) 48 °®1 — 51 HI

15. Teh 9%k o1 IR o1 9= a9 e a1 d gt g

(A) 36:-1°F-372°F (B) 36:1°C-37-1°C
(C) 97°C-99°C (D) 48°F—-51°F
15. An adult human being has a normal body temperature in the range of
(A) 36-1°F-372°F (B) 36:1°C-37-1°C
(C) 97°C-99°C (D) 48°F—-51°F

16. I S1IP Ife Sire fimi3et @ sl Seere 2

) RN SRR oA (B) TFEMRITY R

(C)  «.1.cer. =IgeT e (D) &=, 5!
16. T3 SIRCSR RolCIE w1 (RpTigst i) e #Ifios 2

&) =R el (B) TeePraifing e

(C)  «.1.cer. =IgeT e (D) &=, 5l
16. GR vRat frarse gg wat ffemn 2

(A) Breft STEfR s (B) hetrerefeg foa

(C) Tu.fuSl. 7o Ham (D) .. T
16. YRA o fHETset 89 o ®9 ° 58 [T a1 8 ?

(A) Bft TR (B) herrerated foe

(C) THS. 3TsgeA HeTH (D) <.ARE. @
16. Who is known as the Missile Man of India ?

(A) Homi Jahangir Bhabha (B) Kailasavadivoo Sivan

(C) A.P.J. Abdul Kalam (D) J.R.D. Tata
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17. TTaferre g (@ PR BT qf (W' 9 74728 95 ?

A) faeIaizs (B) AR
(C) TIRIZD ) IEIGISIED
17. 0y SEiRoma e @ FoChR EHItes @3 J2eN 28/5 ?
&) frRizs (B) TBANIRG
(C) IR ) EIGISIED
17. TTERH 371 AT 91Rg (Computer Storage) T gfgs <t ammfe ?
(A) fimemse (B) dusge
(C) wmeTEe (D) ferersmse
17. fr=fafed # @ o Heet Tenv i qe98 9 3hE § ?
(A) TrmeTge (B) <tEmse
(C) WmeTEe (D) fepeitese
17. Which amongst the following is the largest unit of computer storage ?
(A) Gigabyte (B) Terabyte
(C) Megabyte (D) Kilobyte
18. ferfeTiie (I IR SI= IS 1= ACE ?
GV il (B) Tsreh
(C) *eg (D) e
18. oI TERrS (I “1190 ST G <1 A7 9f1C= &0 fersfier e 2
A) e (B) IRC (Ralb)
(©) (D) ot
18. BRI S T3 e STHTE! G [GTe SR ?
(A) g e (gE) (B) <&«
(C) far (D) T (farem)
18. fr=fcrRad ® & o6 @1 vaft 1o et USi & WiEe! § ST § 2
(A) BHEA (B) St
©) firg (D) e
18. Which of the following birds builds its nest in tree hollows ?
(A) Hornbill (B) Egret
(C) Vulture (D) Eagle
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19. fEfrie @G ST A8 I 2

(A) <&t sfe (B) ToRRITSII AN
(©) @&Hze D) =R

19. I TR (SHIG SIRres S 1w ?
(A) G 4TS NG| (B) @ (e Biald
(C) < el (D) =R

19. TR T3 YRATH gEUN IR ?
(A) T T T (B) TR STTed TR
(C) TR #eX (D) e

19. FreAferiea @ @ i Wi o1 Ugig U3 2
(A) T HIT T de (B) T STTet TR
(C) s weft (D) e

19. Which of the following is the National Animal of India ?
(A) One Horned Rhino (B) Royal Bengal Tiger
(C) Asian Elephant (D) Nilgai

20. I R JET ST (T2 %7 2B/ 91407 T =7 2

(A) T2 IR (B) TSR b3
(€) f.=[. S (D) DM ECOIR (FIUheT
20. TF SIECST TRIRH 0T DS ?
(A) T2 SR (B) TormE 7
(C) RR. S (D) MR IFTCSIB AGe
20. R YRAM 3M3E 47 (Iron Man) BFH THRESTT ?
(A)  weTe ek B) g w5
(C) To.3R. 3m=EHt (D) TIER ToANHTS TeA
20. T 1 ciig Te fohdl |1 SI1a1 & 2
(A) T e (B) gy =g S
(C) .31, 3m=EHL (D) HIER TeANHTS U
20. Who is considered as the Iron Man of India ?
(A) Mahatma Gandhi (B) Subhash Chandra Bose
(C) B.R. Ambedkar (D) Sardar Vallabhbhai Patel

SLRC-2022/P-V/D 15 P.T.O.



21. “FINR " WARIRS @I T2 CITe ST 2

(A) TS (B) AR F=IT
(C) foa (D) I

21. 90 SEie @ TemIER A QR A IS ?
&) T (B) A PRI
(C) feai (D) I

21. TEMEM o0& “FTgqi M’ S @il § ?
) <t (B) @t il
(C) fe=n (D) et

21, “Fem i Fretfrfiaa & & forg e & Gt 2 2
) <t (B) @t il
(C) famn (D) <hrfs

21. Which of the following communities is “Haidang Geet” associated with ?
(A) Deuri (B) Sonowal Kachari
(C) Tiwa (D) Karbi

22, IR IR TN see 529 A [rs 2

(A) T (B) 6Bl

(C) D (D) &=
22,  SPIIR SIIRERI ARG e &) e 2

A Pr= B) eI

(C) G (D) e
22, ITEMM HTETREHIS MH Sei 9TE™ HemT ?

A) W (dR) (B) Tl

(C) wren (D) A
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22, 37EH % FIAhe e Foreres foru ufirg B

(A) T (B) K

©€) (D) @it
22. Asharikandi village in Assam is famous for :

(A) Silk (B) Terracotta

(C) Jute (D) Marble
23, “AR T SR TG T[T TSI AN ?

A)  Teyifoemm Sl (B) I (el

(C) freerim et (D) «Ao® TS
23. P ¢ IMTH TN A Fl ?

A)  TEife &M SeE el (B) =TI (el

(C) T epTm Il (D) ] 5F IS
23. ‘Ui 3T AR SO F@H G ?

(A) ST TG STETe (B) Wi SewaT

(C) ey srerme T (D) et = weet
23. “grhl” ek AR e HT A R

(A) fd y9Te 3mETe (B) AEHMTY ST&r®3TT

(C) foruy srame T (D) i =g sRerers
23. “Poki” is the name of ancestral home of

(A) dJyoti Prasad Agarwalla (B) Lakshminath Bezbaruah

(C) Bishnu Prasad Rabha (D) Nabin Chandra Bardoloi
24. frferre g @G FeeTe [ ?

(A) TR (B) ettt 2

(€) =W (D) TATESI<™ |
24. {0 Trafrs i e wkiEs ?

&) IR (B) Sferelt <

(C) =9 (D) T Colffm s
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24, TEEM S937 fEETREAE € ?

(A) GIUTER (B) wifert o
(C) T (D) et mifsre A=
24, TfctfEd § 9 %F REErR | fra g 2
&) s (B) wifertierm
(C) TR (D) <remiiee #fet
24. Which of the following is located at Sibsagar ?
(A) Surya Pahar (B) Malinithan
(C) Rang Ghar (D) Dolgobinda Mandir

25. SO (P ST ]I T Seolfaze eRiEs ?

(&) P (B) (e
(C) fr=R™ (D) EEw
25. SRCSH (I ey (AP I 119 Teeifie 2R ?
(A) P (B) =g
(©) fe=m (D) EEw
25. WRAM o6l TSSAITE STk CHIET HHSEIG! ?
(&) s (B) wfg
(C) firsiH (D) wETH
25. S T A % o8 T=w1 T Foreherell 2 2
A) I (B) #foTg
(C) foiin (D) weeE
25. In which state of India does the Barak river originate ?
(A) Assam (B) Manipur
(C) Mizoram (D) Meghalaya

26. IRFS G SR *FET I oS! (P Sl ?
(A)  fferfey (B) R
(C) =MEF (D) ifem
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26. FS AT SNGGI *FGTN (F PICI R ?
(A) et (B) o1z
(C) PCEr (D) e
26. HEHd BEAT3 “IUHE Aot Wl G fergm ?
(&) wfor (B) Feaw
(C) 3gHEm (D) wiicter@
26. “IANRH A s, Teh Tehd ATesh fohdeh gRI formm ma o 2
(A) rforfy (B) hew
(C) Iad (D) hifeie™
26. ‘Abhigyan Shakuntalam”, a Sanskrit play was written by :
(A) Paninmi (B) Kalhan
(C) Asvaghosa (D) Kalidasa
27. ARF (@R GRTR KRR @igy e :
(A) 2SR e A (B) B FfZe1] 7perq 2T Sgie 7%
(C) R &=l (D) &= GHC LA FTR
27. IRE (@RE R ReoR @mEs 2=
(A) GBI BRI TB! G A (B) WA &R TS (12
(C) Riferm sl (D) *II=I7s GO T
27. SERIN ST W T TGRS e
(A) ot w g ger o (B) TS BITET FTeATSH TR TR
(C) Hasi G-did @i (D) ToRfEsTI AR SE wretf
27. aTfies Sfeet Bet <Al fosivar 2

(A) g <efiEl 5 ger Twar g |
(B) W3t 1 a1 i Y AT T 2 |
(C) =g el womreft

(D) T3 T I AR
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27. The special characteristic of the annual Jon Beel Mela 1is :

(A) It remains open round the clock
(B) Women are not permitted to enter
(C) Barter system

(D) The exclusive trading of livestock

28. fferfis e it “Aie-2@12r eeé Ffifee ?

A) ST (B) S
(C) vlRERA D) =
28. 0 SERSTE W & “AI9-2- 291 7 elREa FERMRER ?
(A) SFATHI (B) T
(C) === (D) SRS
28. CH-T-3ATE! Gl MERH TR ST SFESHHEE ?
(A) IS (B) TR
(C) vr&sEl (D) Frhs
28. TEfRad 4 @ fope “SH-U-3amal” shl weatTd o6 off 2
(A) 3NTNE (B) TR
(C) IEsTEl (D) 3HH
28. Who among the following initiated “Din-i-Ilahi” ?
(A) Aurangzeb (B) Babur
(C) Shah Jahan (D) Akbar

29. frfeTe sT=q (PG R *1hTe S 72y ?

A) g (B) =Terd

(C) TmIZFITE (D) BEsIT
29. fICH SEMRCTE TG @GR FEitTe Sees 77 ?

A) el (B) =ml4

(C) TRITZHMIE (D) BT
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29. TERM SE3 JATS T G T ?
(A) gg (B) wEmE
(C) HISHH (D) =vEhTe
29, Treforfiga # & W weh g v wew & & 2
A) gg (B) wEmE
(C) HISTHHATA (D) =ErTg
29. Which of the following is NOT a Union Territory ?
(A) Puducherry (B) Ladakh
(C) Kodaikanal (D) Chandigarh
30. T 72 *eq Aere B[] 7fh FHHS (2w ?
A) 3= i o™ (B) =™ S SR
(€) w2 i Jfor (D) bz o= B
30. B[ 3 P M AFNS RARE 2
A Tt e Afs (B) 3 @2 ScaN
(C) SR «3s faft= (D) fafom «3: B
30. ITSTY TR TR HRH TS0 SIEEH ?
Q) fafew smi seffsr (B) s 310 38"
(C) 3w AW ferfem (D) fafew 30w
30. e i @l & e e swamer e m 9
(A Torfest ST aff (B) =ff 3R 3mEm
(C) mem 3R forfe (D) farfew v =h
30. The Treaty of Yandaboo was signed between :

(A) British and Burmese (B) Burmese and Ahom
(C) Ahom and British (D) British and Chinese

SLRC-2022/P-V/D 21

P.T.O.



31. OROR MRS fRFH AL SPI5! SR ?

(A) 14 (B) 10

(C) 15 (D) 12
31. SRR MR G FA(G el “Ahew F 2

(A) 14 (B) 10

(C) 15 D) 12
31. WRATR Gfeforasta Taed i g ?

(A) 14 (B) 10

(C) 15 D) 12
31. T W 3 Pt sl T A 0

(A) 14 (B) 10

(C) 15 (D) 12
31. How many schedules are in the Indian Constitution ?

(A) 14 (B) 10

(C) 15 (D) 12

32. T e qifEs e (20 PN 2

(A)  STeIDeT &0 B) fao@t

(C) e D) i
32. FCN o ST (@I A0 e T 2

(A)  SREIDE e (B) fa=@1

(©) T D) e
32. <@y (HU) foamar s« Tg grerEnsd faem 7

(A) ITRUTEA T B) Fgu

(C) g (D) fafenm
32. HaH-Ie 3TMhg fohdl U 1 TSARA & 7

(A) ST e (B) g

(C) =R (D) fafaa
32. The Fox-tail orchid is the state flower of

(A) Arunachal Pradesh (B) Tripura

(C) Manipur (D) Sikkim
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33. SPINT i 10l (70 :
@) g
B) G
©) =3
(D) ™meaR

33. ST e o581 2
(A) i
B) =
(C) =
(D) ™me2P

33. M ST gE3T AT ?
(A) TEgE!
(C) T

33. EMHI TSI U 2 :
(A) R

(C) =L

33. The state bird of Assam is
(A) Cuckoo
(C) Peacock

B)
D)

(B)
D)

B)
D)

CENEACHEACED!

gl faei (g &)
EICK]

ESr|

Hornbill
White winged wood duck

34. TV AT T 2T SAES
(A) Toame
(C) five

34. T ARG @ AT SRES
(A) Tamws
(C) R=wivel

34. I U3 56 B @A E ?
A) Fergre

(C) faeara
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34. 3uHE Aft o wedt M fa &
INIREEIES] (B) W=
(C) fereamere (D) e
34. The Umananda temple is situated on the hilltop of
(A) Chitrachal (B) Bhasmachal
(C) Bindhyachal (D) Sandhyachal
35. SEHRA P19’ Ifere wrere bR Ser it @i wifes ?
A) 3T (B) Jxre
(C) Sle (D) s
35. “SEIIHIER G RO ARbe eibia Sier bR :
(A) vIT (B) =
(C) SiRe D) RE
35. TGI-TICRIT AT <& BIEMHHITH G371 9T, SRl ISt 3% A1 S (IS ?
(A) = B) g¥a
(C) =mwe (D) femmeeht
35. o fafercd % S e T aTet I wRe e Fafeheass o
(A) = B) "Id
(C) armwE (D) ferrres
85. The ancient Indian physician known as the ‘Father of Surgery’ was :
(A) Charaka (B) Sushruta
(C) Vagbhatta (D) Vinayaka
36. ‘TRl G G0N 9P FFef TOR 2

(A) fgefemi (B) PTE DlR-eeife
(C) femm (D) S SIS
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36. ‘B TE I BFe T 2

(&) fogfer (B) WPIGHR 512-oreiifs
©) feam (D) T Torife

36. “TYUST A BTN HE MR BRET ?
(A) fosogfsra (B) IrmEmf |rer 8w
(C) femmem (D) Ff &R

36. “THg IS Toheeh! U HEc Ul @lER & 7
&) feoafrn (B) 3mem 1 = S
(C) fewman (D) Feh! ST

36. “Tusu Puja” is an important festival of the
(A) Bishnupriyas (B) Tea tribes of Assam
(C) Dimasas (D) Kuki tribe

37. TR @G BT “JUi-T&[” (Mask Making) 37 &I4roica Ho6! 391 27 ?

(A) baRHS (B)
(C) TRl (D) il
37. T SEf® &M ZI0T “JeIm Coal (A% GRfR) e bibe 27 ?
(A) vAETTe (B) ArefT
(C) TR (D) A
37. TERIN S« SRATRETE J@T SHRAREE! Mg 1 ?
(A) =HIged (B) et
(ORRICIEELY (D) sfen
37. Tfofga # & fora o @ “g@iier A @1 &9 @ fpan mar g ?
A) =TES (B) et
(C) TTeTS] (D) e
37. In which of the following places, “Mask making” is predominantly practiced ?
(A) Charaidew (B) Majuli
(C) Goalpara (D) Sadiya
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38. 73 fei3re *fiea wers s g weefbe (2, o2 *ife 1oie o1 it =7 |

(A)  @f3R =% 9# 13T (Axis and Allied)
(B) ¢e73T o< @R’ (Allied and Axiom)
(C) «eT2T % (915 (Allied and Gammon)
(D) TN I ORI’ (Gammon and Axiom)
38. WYL RIS =& oI Ty fash [ 2@iee o Sfefzs
(A) «f3PT 8 GEIET (Axis and Allied)
(B) 9T € GFRY (Allied and Axiom)
(C) 9T 8 (999 (Allied and Gammon)
(D) oM 8 B3R (Gammon and Axiom)
38. g gael 11 37 Cagl AR HiH- 3¢9 T8l 8Tl SITa
(A) UfRIE AT ITATSE (Axis and Allied)
(B) 3TeT1sS AW Uadi3™ (Allied and Axiom)
(C) 3reTsE W 1 (Allied and Gammon)
(D) T\ AT Ve (Gammon and Axiom)
38. fefiufagg Ao nfFm iguaeime, g Farsmrg |
(A) UfeIE Tg UATSE (Axis and Allied)
(B) uwTss Us ufegatm (Allied and Axiom)
(C) uess T 1 (Allied and Gammon)
(D) Tm Ug ufeg3t (Gammon and Axiom)

38. World War II was fought by two opposite power blocs called
(A) Axis and Allied (B) Allied and Axiom
(C) Allied and Gammon (D) Gammon and Axiom

39. T ZTS ITORINT IF BFSI (- (g TG A0S (2feet :

INIRISSH (B) = 7129
(C) T (D) IS
39. T B Ariess T (SATLad I T5A1ITG I050R -
INIRITSH (B) Tl
(C) oI (D) IS
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39. o SIRATRTS STSE! TSTs AT -HIUR ATSHEATII SATATEl ?

a) fi@ (B) HEHUR
(C) wrTfor (D) STErA
39. 1 &l H Ueh YW qoi- & geled o g wgs oft
@) fom@m (B) HEHUR
(C) wTrf (D) STESH
39. A major Oil-field accident took place recently at
(A) Tingkhong (B) Sarupathar
(C) Merapani (D) Baghjan

40. I AR eiFo 7 [ =N ?

A) TR (B) wFHS

(C) JleTRF (D) T
40. = ERIGIR ST 7 ;

(CVERSIRIEE (B) WS

(C) FEIRG (D) TEE
40. ety Te gan g Ae ¢

(A) SHESE (B) GeReteas

(C) HATITER (D) wewled
40. & FaemE w1 srEeht AT o

(A) S (B) geieast

(C) HETS (D) wewled
40. The real name of Bir Chilarai was

(A) Janmejoy (B) Sukladhwaj

(C) Kalapahar (D) Malladev
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41. Ta—b=5F a2 + b2 =41, TSI ‘ab’ I T+ (2R
(A) 10 B) 5
© 7 D) 8
41. Ia—b=5«Ra2+b2=41%,SF ‘ab’ GI A
(A) 10 B) 5
C) 17 D) 8
41. Jfga—b =53 a2+ b2 = 41, 31T ‘ab’ fam fega 7
(A) 10 B) 5
© 7 D) 8
41. Ica—-b=53MaZ+b2=41,d ‘ab’ KT AF TTH 2 :
(A) 10 B) 5
© 7 D) 8
41. Ifa—b =5 and a2+ b2 =41, then the value of ‘ab’ is
(A) 10 B) 5
© 7 D) 8
42. 5 T RS GBI SIS (tank) 80 MWG® 5o i< #1f< | GTR! Sl 8 T 2N
5]t PR [P TR @IS 27 2
(A) 80 TG (B) 70 i
(C) 60 ™G (D) 50
42. 5 79 7R @ GRS (G1F) ©F Fa0o 80 MG 7 #eal | 8 T o1 =i[i (12 ThRIwI
(T31%) S TS F© IR I 2
(A) 80 G (B) 70 ffe5
(C) 60 ™G (D) 50 ffeH
42. T % (Tank) @t &' 5 s ggHr 80 fifd @9 &R | & I @ 9fe ' 8 TS JaHwT
S TH AN ?
A) 80 fufa (B) 70 fufra
(C) 60 fufa (D) 50 fuf@
SPACE FOR ROUGH WORK
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42. Tk bl 1 5 18T 80 e # W Hehd @ | SH) 3 1 8 Ui & WA H fehaT v o 2
(A) 80 fre B) 70 fire
(C) 60 fie (D) 50 fime

42. A tank can be filled by 5 pipes in 80 minutes. How long would it take to fill
the same tank by 8 pipes ?

(A) 80 minutes (B) 70 minutes
(C) 60 minutes (D) 50 minutes

43. 54° TIIHF Q@RETTS 2/ FHCe 37K T

3
A 19 ® o
© 1 @) %
43. 54° TR ol @RI A6 T
3
A 19 ® o
7 9
© 710 @) o
43. 54° @G HLIF3TE ArT=IET 91 9T ?
3
A 19 ® o
7 9
© 1o ™ g
43. B 54° 1 e 6l goprs § gREfdd i T EehT AF ST g1 2
3
» 1o ® g
7 9
© 1o ™ g
SPACE FOR ROUGH WORK
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43. The angle 54° when converted to radians, i1s
T 37
A) 10 B 1o
T O
© 10 RT)
2.5
44, Ew*ﬁwwmﬂm:
A 0.5 (B) 0.25
(C) 0.05 (D) 0.025
2.5
44, E@Wﬁ@ﬁi"ﬁ@ﬁ_.\ow:
(A) 0.5 (B) 0.25
(C) 0.05 (D) 0.025
44, %@mﬁﬁﬁm@o—vﬂmﬁmﬁ??
(A) 0.5 B) 0.25
(C) 0.05 (D) 0.025
2.5
44, EWWW%:
A 0.5 (B) 0.25
(C) 0.05 (D) 0.025
44. The decimal representation of % is :
A 0.5 (B) 0.25
(C) 0.05 (D) 0.025
SPACE FOR ROUGH WORK
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X \/162

45. ﬂfﬁ\/ﬁz L &, O® W I
A) 12 (B) 14
(C) 196 (D) 144
x 162 , .
(A) 12 (B) 14
(C) 196 (D) 144
x /162
= ?
45. o8- x ST, x T A feg ¢
A) 12 (B) 14
(C) 196 (D) 144
x 162
45. o8- x , < & ST 9T 3T <hIfSTY |
(A) 12 (B) 14
(C) 196 (D) 144
45. Find the value of x if \/%3: “262
(A) 12 (B) 14
(C) 196 (D) 144
46. 1 3.3 STOF GBI T939 #1911 75.19.3 Sre=q =it 9o $ifb Sfemig <191 91 2
(A) 108 (B) 106
(C) 10% (D) 102
46. 1 .3 ITSER GF0 TG (A 1 T1.1.3 ATersead T 990wd @6 @9 91 qE 2
(A) 108 (B) 106
(C) 10% (D) 102
SPACE FOR ROUGH WORK
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46. 1 (fir.)3 TSI 7T H19R TR A% A 1 (.8.)3 TSI 141 89 g@ 1 gTH 2
(A) 108 (B) 108
(C) 10* D) 102

46. 1 T3 1A 9ol Th U9 W & 3TRIAA 1S3 o fehd O <h1e ST dehd 8 2
A) 108 (B) 108
(C) 104 (D) 102

46. How many cubes of volume 1 cm? each, can be cut out from a single cube of
volume 1 m?3 ?
(A) 108 (B) 108
(C) 10* D) 102

47. 10 O AIEe] S@1 GO (AR Q947 T 8 o Twoe = F(F SITHIR (AT ST |
GYECIE MARTIN 9.6 F6 Tvore =~ Fte GeerEs [iq 7ag b2 S
a1ifar ?
A) 3.2%0 (B) 2.8%F0
(C) 3.9%% (D) 4.4F6

47. 10 FH TR GF1H T2 G5 (SR IR JCF -, 526 (AT 8 Th Tho =i
T | (SIICETA Tep PO FC Coltet W2i5e M (reaeifBess 9.6 F6 Ty ~f e ?
A) 3.2%0 (B) 2.8%F0
(C) 3.9%5 (D) 4.4%5

47. TH TRIE 10 I AU TG o TR 8 hie Shumsta dFr € | Jfe o

AT UG o ST 9.6 hie A3 AARATHET o SETRa! ST BRY 9 AT
SRR 7

(A) 3.2 (B) 2.8%re
(C) 3.9%E (D) 4.4
SPACE FOR ROUGH WORK
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47.

47.

T 10 i 7ol il T SR o foeg 3ehdt g3 8 I il HaTs W R I Tl & | HE ol
SR 1 AR Tl gl T & ST =1ET d1feh 39T 3N 9.6 HiE hl a3 W SR i Y
Heh ?

(A) 3.2 (B) 2.8%¢

(C) 3.9%I D) 4.4%

A 10 ft. long ladder leaning against a wall, touches the wall at a height of

8 ft. By what distance should the ladder be moved towards the wall so that
its top touches the wall at 9.6 ft height ?

(A) 3.2 ft (B) 2.8 ft
(C) 3.9ft (D) 4.4 ft

48.

48.

48.

48.

3:4:5 SIS 2! TSf«B] 7RI “[qeF=T 480 TN o1's1 | 7yl Fofb SiBIRSCS Tl
[

A 6 B) 8

© 10 D) 12

3:4:5 SRS Fonfb TR @oFeT 480 | G2 Roafb 727 J2eT 721

(A 6 B) 8

© 10 D) 12

Y™ 3ERE SRS IEE 3:4:5 AW fdRf gF@sT JeE 480 | 9 WHYU™
STt T Sgfgs <tfem safHmn e

A 6 B) 8

(C) 10 (D) 12

3:4:5 % ITUTA T &I <fiF T3 1 OB 480 TR 11 7 | I T@nsti § § gad 9t
TET 8 -

A 6 (B) 8
(C) 10 D) 12
SPACE FOR ROUGH WORK
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48. The product of three numbers which are in the ratio 3:4:5 is found to be 480.
The largest number among the three numbers is
A) 6 B) 8
(€ 10 D) 12
49. THICI GBI TR 2T 30% I I/ 291, O Pee ©FF 30% B F91 23 | TRYGR 5
BRI R SR
(A) 9% I (B) 10% T
(C) 10% @ D) 9% T
49. G AT 30% IS T =6 G2 OR=R 30% ZPT 91 = | *ToRe FRerea H3yifba
G “AfRaE
A) 9% I (B) 10% B
(C) 10% @ D) 9% ZM
49. WY SERNMEE 30% S SREE AR WHEE 30% WEE @EHER | 8 SFHSHET
HAEATEE! STERS| HIRAT ?
(A) 9% SE™ (B) 10% STSTE JE=
(C) 10% ssm™ D) 9% TST3 =™
49. T e 30% H1 97 78 3R T A 30% 6 S | v #, e # v A 2
(A) 9% Hiafg (B) 10% i it
(C) 10% i gfg (D) 9% ht
49. A number was increased by 30% and thereafter decreased by 30%. The net
change in the number in percentage is
(A) 9% increase (B) 10% decrease
(C) 10% increase (D) 9% decrease
SPACE FOR ROUGH WORK
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50. AT x2 — 2x + 1 = 09 CFqS x3—$3W:
A o (B) 1
C) -1 D) 2
50. AIFAT 2 — 2+ 1 =O‘€C?{x3—$u‘lﬁw :
A o B) 1
C) -1 D) 2
50. o GHMHYUTEIE 22— 2x+ 1 =0, x3—$ fgmsnsg ¢
A o B) 1
€ -1 D) 2
50. THIHUI 2 — 2x+ 1 =0T, x3—$mm%:
A o B) 1
€ -1 D) 2
50. In the equation x2— 2x + 1 =0, the value of x3 — ] is:
A o B) 1
© -1 D) 2
51. 9 oI SPRYT &S IR 10% 27O I 2 | oY TG GpiRyl 1000 2@ 3
BESRRRECERIRRTR SIS
(A) 1300 (B) 1351
(C) 1310 (D) 1331
51. €0 *12&F PR &ifS =7 10% 2F IEe 27 | TSI SoPReg 1000 205 3 IF 79
267 SR 24
(A) 1300 (B) 1351
(C) 1310 (D) 1331
SPACE FOR ROUGH WORK
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51.

51.

51.

Td ARA WY SRR SRS 10% ERAE SEeTS! | 9 e gy
IARTEET 1000, 36T TR 3 3G o AR g STANHRT & ST 2

(A) 1300 (B) 1351

(C) 1310 (D) 1331

T YT I THEE H Ufd a9 10% 1 ghg Bt 2 | A TaHE G 1000 B Al 3 T
T 38T hl SHEET Bt

(A) 1300 (B) 1351

(C) 1310 (D) 1331

If the population of a town increases at the rate of 10% every year, the

present population is 1000, then after 3 years the population of the town
would be

(A) 1300 (B) 1351
(C) 1310 (D) 1331
52. I 90! RIS M 3 : 5 HPICS R, S FRIHEGA “/qe=Fe] (22 135 |
FRLJES P! 2R :
A 5 B) 9
€ 11 D) 15
52. 72 FSIRF FRYF SIS 3 1 5 GIR SIME 8o 135 | Farod A2/ 24 -
A 5 B) 9
©) 11 D) 15
52. T fafomm sty Seumesn e 3 ¢ 5 3T SHR AHSTETasT S 135 | 9|
HIGTE G3fe SAITHRT AT ?
A 5 B) 9
€ 1 D) 15
52. Gl TThiceh HEATE 3:5 31U H & 37 3! TPHGA 135 7 | 370 8 B T 7 -
A 5 B) 9
€ 11 D) 15
SPACE FOR ROUGH WORK
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52.

Two natural numbers are in the ratio 3:5 and their product i1s 135. The
smaller number is

A 5 (B) 9
© 11 D) 15

53.

53.

53.

53.

I A, B 9 C J 57T T 22 928 9F B IE C 7 91T 7 25 I=9 T, (ST 9 I=JT
Pree AT 29

(A) 35327 (B) 303=d

(C) 253=F (D) 203=3

A, B @R C 97 57T I 22 I°K 4R B 8 C 97 57T I3 25 IF 236 A &9 7 9
I AR T :

(A) 353V (B) 303K

(C) 2531 (D) 20 ISK

Jfe A, B 3t C f1 J&ifa g aHsn 22 S|R 3 B 30 C 7 S| e ams 25 SR,
3ecAT 9 SERH A A T 9gi3 98 Srame 2

(A) 359ER (B) 30 9rER

(C) 25HER (D) 209X

Ffg A, B 31K C & 37tea 317 22 99 8 31K B 37X C &l 37d 31y 25 98 3, a1 9 ¥ &g A
ﬁawg%:

(A) 3599 (B) 3099
(C) 259 (D) 2039
53. If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then the age of A after 9 yearsis:
(A) 35 years (B) 30 years
(C) 25 years (D) 20 years
SPACE FOR ROUGH WORK
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54. A @I @ AN RARERT 20% TS TR B P B RN 20% SRE 7S
e e | ey i Sl efie el w1 ol (2 :
(A 40% B) 50%
C) 30% D) 45%
54. T G AN FIGF RS To (AT 20% I T 96 GR S 67 (=2TF 20% @A
I e et | ANANG [ F19 &y > 5 201 21 2 2
(A) 40% B) 50%
(C) 30% D) 45%
54. HAAS HHH JHTCE! FAEm™ SEAMHR 20% o1 SRET Al | o sareE! fo= formm
FEAMHTE 20% ST SETE BHETRAT | SHIGE! BHATRE S¥ @6l GATh Sl 7
(A) 40% B) 50%
C) 30% D) 45%
54. HUA Teh I&] bl 38k Gigd Toi ¥ 20% HH T GliedT & 3R 38 fgd oI & 20% s W
ST 8 | 9% ! o T AT T JcmId | -
(A) 40% B) 50%
C) 30% D) 45%
54. Kamal buys an article for 20% less than its printed price and sells it for 20%
more than the printed price. The percentage of gain on selling the article is
(A) 40% B) 50%
C) 30% D) 45%
55. M A:B=2:3 5< B:C = 4:5, 7% C:A I 51 :
(A) 85 B) 5:8
C) 5:18 (D) 15:8
55. AW A:B=2:39RB:C=4:50%@ C:A T :
A) 85 (B) 5:8
(C) 5:18 (D) 15:8
SPACE FOR ROUGH WORK
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55. A[CA:B=2:33MB:C=4:5,37 C: A 31 IAH
(A) 8:5 B) 5:8
(C) 5:18 D) 15:8
55. I A:B=2:33 R B:C=4:5AC:AR:
(A) 85 (B) 5:8
(C) 5:18 D) 15:8
55. If A:B=2:3 and B:C =4:5, then C:A 1s:
(A) 85 B) 5:8
(C) 5:18 D) 15:8
56. 0.23 T TIgen SR (2=
23 23
(&) 99 (B) 990
23 23
(©) 999 D) 9o
56. 0.23 G g SAA
23 23
(A) 99 (B) 990
23 23
(©) 999 D) 9o
56. 0.23 1 gaM 3T BERm SraE@-es T Sa
23 23
(A) 99 B) 990
23 23
©) 999 D) 99
SPACE FOR ROUGH WORK
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56. 0.23 fsm i & susREa?
23 23
(A) g9 B) 990
23 23
©) 999 M) 99
56. 0.23 is equivalent to the fraction
23 23
(A) g9 B) 990
23 23
© 999 D) 9o
57. &bl TEAE TN faged cwazel (2 81 1.11.2 | fagsioa e raf Tare -
A) 14 @A (B) 16 @.f.
(C) 18 @A D) 22 G.J.
57. G0 ANCHA TR faored tRawer 81 P1.A.2 | fagsite Sifogtes T
A) 147N (B) 16711
(C) 187N, D) 22 7.1
57. AFE TRE @ ImEnfRam csantEr S 81 @.f)2 | 9 sty
ARG AT ATTATIS ST
A) 145.fm. (B) 164.fa.
(C) 18u.fa. (D) 224.f4.
57. Teh GufgaTg ATV B3 o1 &ahat 81 27 | Tt o ol hl aTs &
(A) 145 (B) 16 &
(C) 18 (D) 22 I
57. The area of an isosceles right angled triangle is 81 cm2. The length of the
hypotenus of the triangle is
(A) 1l4cm (B) 16 cm
(C) 18cm D) 22cm
SPACE FOR ROUGH WORK
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58. WD I5(TFAR T SIS 2:3 | Preed raze SeAirs (202 :
(A) 38:5 (B) 2:9
©) 4:9 D) 4:5
58. 732G ITHER I SIT® 2:3 | I5HCIH 207 T o1 SIS -
(A) 3:5 B 2:9
©) 49 (D) 4:5
58. ARG ST TH- T GHTREI TIATES O™ 2 : 3 | o S A s Jemsst
ST
A 38:5 B) 2:9
) 4:9 D) 4:5
58. o=l G Tt o frehut ot STUTA 2:3 B | ST o &kt fH ST H &
(A) 38:5 (B) 2:9
©C) 4:9 D) 4:5
58. The diagonals of any two squares are in the ratio of 2:3. The areas of the
squares are in the ratio of
(A 3:5 B 2:9
©) 49 (D) 4:5
59. T GBI BT 6 T T2 15 ere 7=sjf T 21 | PG WG 7 10 Ferq fores
I 4 & Tl FIvS @l MR | gfiew sz i s Siete e @l me
AT -
A 2 B) 3
€ 4 D) 5
59. 6 S T QL I 15 MG FACS A1 | 10 T 21 SR8 4 &+ Aoy @Il =T | i<
FIEGT T FICS Fofe] NI ?
A 2 B) 3
©) 4 D) 5
SPACE FOR ROUGH WORK
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59. UMY WHIHE! A1 6 THMES 9F 15 379 BiSel | 99 10 11 399 amieme a1 4 aFfd
TEATS | & ATATT QTG BISEA] JHEE T SR 2
A 2 B) 3
© 4 D) 5

59. 6 9% T H1 I 15 T 6 Q0 Fehd 7 | 10 T&1 3 91, 4 3T 69 Jd & | A9 &1 &l
T R o foTu STrarwrs fei 1 e @
A 2 B) 3
© 4 D) 5

59. 6 men can complete a task in 15 days. After 10 days, 4 more men join. The
number of days required to complete the remaining work is :

Aa) 2 B) 3
©) 4 D) 5

60. (I GF FRYE 20% F 25% I 50% I T+ 21 | SO 27

(A) 420 (B) 520
(C) 840 (D) 940
60. CFITT @B TR 20% €T 25% 9T 50% WG 21, 2B
(A) 420 (B) 520
(C) 840 (D) 940
60. =R AN 20% T 25% T4 50% 31 e 21 | § AR STE™
(A) 420 (B) 520
(C) 840 (D) 940
60. T T 20% b 25% T 50% HI A 21 2 | I8 T&IT R -
(A) 420 (B) 520
(C) 840 D) 940
60. 50% of 25% of 20% of a number 1s 21. The number is
(A) 420 (B) 520
(C) 840 (D) 940
SPACE FOR ROUGH WORK
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Q. 61 — Q. 63. Fill in the blanks with the correct options.

61. Please to let the children pass.
(A) stand aside (B) stand to the side
(C) stand in the side (D) stand on the side

62. 1maginative stories about the origin of the game of chess.
(A) Many of the (B) Many
(C) There are many (D) Of the many

63. I really have to go now. I have the doctor.
(A) an appointment to (B) an appointment with
(C) appointment with (D) an appointment from

Q. 64 — Q. 67. Choose the correct ANTONYM for the given word.
64. Sympathy

(A) Empathy (B) Antipathy

(C) Condolence (D) Consolation

65. Economise

(A) Enormous (B) Purchase

(C) Waste (D) Trade
66. Hamper

(A) Promote (B) Stop

(C) Barrier (D) Fail

67. Incompetent
(A) Unskilled (B) Inefficient
(C) Dexterous (D) Useless
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Q. 68 — Q. 70. Choose the correct SYNONYM for the given word.

68. Judicious
(A) Prudent (B) Irrational
(C) Foolish (D) Impatient

69. Monotonous

(A) Pleasant (B) Varied

(C) Variety (D) Tedious
70. Outrage

(A) Praise (B) Favour

(C) Pleased (D) Offence

Q. 71 — Q. 73. Choose the correct option.

71. A number of people listening to a concert or a lecture is called
(A) Audience (B) Spectators
(C) Crowd (D) Rabble

72. The place where airplanes are housed is called a
(A) Garage (B) Warehouse
(C) Hanger (D) Hangar

73. A person who walks in his sleep is known as
(A) Misanthropist (B) Somniloquist
(C) Somnambulist (D) Ventriloquist

Q. 74 — Q. 77. Choose the correct preposition.

74. He said this oath.
A) by (B) on
(C) with (D) from
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75. The post the Government of Assam in the Department of Education
has been advertised.

(A) 1in (B) with
(C) under (D) for
76. The train starts 5 O’clock the morning Wednesdays.
(A) 1n, at, in (B) at, in, on
(C) 1in, on, at (D) on, at, in

77. The plaster on the walls has been removed to expose the original bricks .
(A) underneath (B) below
(C) under (D) 1inside

Q. 78 — Q. 80. The given sentence is incorrect. Choose the correct sentence from
the given options.

78. ‘The Statesman’ has the largest circulation of any English daily.
(A) ‘The Statesman’ has the largest circulation of any English dailies.
(B) ‘The Statesman’ have the largest circulation of all English dailies.
(C) ‘The Statesman’ has largest circulations of all English dailies.

(D) ‘The Statesman’ has largest circulation of all English dailies.

79. I contradicted against him.
(A) I contradicted by him. (B) I contradicted for him.
(C) I contradicted with him. (D) I contradicted him.

80. This is one of the best book that has been written since ten years.
(A) This is one of the best book written in ten years.
(B) This is one of the best books that have been written in ten years.
(C) This is one of the best books written since ten years.

(D) This is one of the best books that has been written since ten years.
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81.

81.

81.

81.

frafairs e fiee

A) B)

©) D)

e e ol e, TR, @i 92 Fi5he elfefirg e 2

A) B)

© D)
MERM o9 T GrermisT U9, ', STREH’ S BRART ?

A) B)
©) D)
ffcTRaa § 9 & 91 3@

T, b, ST o1 SfafAfRcd s @1 8 ?

A) B)
©) D)
SPACE FOR ROUGH WORK
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81. Which of the following diagrams can represent ?
‘Language’, ‘French’, ‘German’.
A) (B)
©) D)
82. TOT© GCT! qpa (PRI ¥ (1.8 (2R :
A 7 71 Pifs 291 3¢0h1 e -
A F B) D
© C D) E
82. foals Y2 T CHa YFIRFSI (T4 :
A @3 R 03 @ 34(5 =iem
@A F B) D
€ C D) E
82. TRH ThHI TSl JUTHRE! TMERTE EHT ARSI G |

A T Seenf g fegama mem g ¢

A) F B) D
© C D) E
SPACE FOR ROUGH WORK
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82. i s R gwaf@m e |

A & faadia die ot fean mm sen 2
A F (B) D
© C D) E

82. In the figure, multiple views of the same cube is shown

The letter on the face opposite to A is
@A F B) D
© C D) E

83. 3G IPTIT AWM STEIIG Fore SyoiN s fer4l 231, (o0 1SR #11 I 34! 2z :
A v (B) U
€ T D) F

83. INM HREE! IMAFE [HC T (AT NSNS (FANCHCHHRT) @14l =, O AW
T I 7 @G ?

@A v (B) U
C T (D) F
SPACE FOR ROUGH WORK
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83. Jfg TS FERG! BH3E 3¢UT IS [eRATSISAT, AFTARITHRE T 8-/ € o1 gratet
HI S ?
@a v B) U
© T D) F
83. Hfe TS W ! I &t 67 1 Tt 1T &, o a1 8 BT JAELHH AT R ?
A v B) U
<G T (D) F
83. If the English alphabets are written horizontally in the reverse order, then
what is the 6th letter from left ?
A v B) U
<G T (D) F
84. STZHN NI AGTS TGS FETSHSLF G4 AT T YASLF BIo | ToI FeqEretss €%
5% o el bR | 3@ AT BI7F | biEets ¢4 e [P 202
A) fere (B) &=
(C) T D) T
84. TRINMA T AG[S 2T (/ITF o141, @ 0 (TP <! | Aol BZH&AN (T o131 5%
f2Te™! (T AT | ] A (T 4! | (& T o7 2
@A) fered B) AT
(©) =T D)
84. THENMEAM (colleagues) BRF e TSYasn feawfrgs Sifew e Smemr garfrgs

TeEfA | Faemen Eshitags Siftm, T feanfrgs meEfE | g o Tegateg
TERTYA | 91 s3figs iy ?

) few (B) TSgd
(C) arsm D) g™
SPACE FOR ROUGH WORK
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84, i i Tror fir B o 2, < H B B & | e feeh & vt 2, A fivr & B
2 | gL SYd A BT 2 | T8 AT HH 8 ?
(A Teaw (B) Ted
(C) Faren D) ™

84. Amongst the colleagues, Rajput is taller than Hitesh, who is shorter than
Suresh. Natasha is taller than Himashri, but shorter than Hitesh. Suresh is
shorter than Rajput. Who is the tallest ?
(A) Hitesh (B) Rajput
(C) Natasha (D) Suresh

85. TNRIR SIFerwq 9ol foqe MYeaR v [ge @[ e il Sfemice | i Sferea
S¥CH! TBIETSIE BB R [o9re firrs sps@aii freel | (e 2o 45t @3 T
P! 529 ?

(A) TR (B) sfreq
(C) SIFTSTFq (D) TGN

85. N2l fo@ (I GFTb TRSTHACE YT @R IARF FIG | 5! GIEAGEE TNSARTSIE
e IR (STl (7R | (Rl S SRpRelG o 2

A) clwgs B) o
(©) ATSEE (D) HiifeEs
SPACE FOR ROUGH WORK
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85. TEMT A TRaf fa=e) -1 gr@ish wramise fefRmm arfed efaen | w1fd sm sem
TEE! T SERERE oS ST A€ SR SR G =T e | S8R g1 67 gTg
"l ?

(A)  IrETfRmEn (B)
(C) form gscirg (D) gfufsrem

85. TIEI 4 T 37d i I8 T fergman e 2, feidier T 7 fewm & whre feam | ¢ gu g 1
AR &Y 8 G T SIHTART hieh Ta1 ITehTa TAT | TET i 376 T TR fienm 2

A) TS (B) =i
(C) TR IqHS (D) oS

85. Sneha cut off a rectangle along the dotted line as shown. The cut piece was
parallelly shifted to the other side and fixed it there. What shape will Sneha

get now ?
(A) Pentagon (B) Square
(C) Parallelogram (D) Trapezium

SPACE FOR ROUGH WORK
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86. feTafeTIS CHIHI 1R AR (18, 75), (39, 54), (27, 66) T 7 e T2+ T ?
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
86. xSl @ M2t (el YFeeiE ToIiFe 2
(18, 75), (39, 54), (217, 66)
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
86. & IARTHT TR MEMTE B S1Afed TIHI=Gl T ?
(18, 75), (39, 54), (27, 66), ?

(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)
86. TmAfaRaa & @ form wen & 3@ &1 56y (18, 75), (39, 54), (27, 66) % T ?
(A) (51, 42) (B) (32, 62)
(C) (51, 65) (D) (61, 55)

86. Which of the following pair of numbers has the same relationship as (18, 75),
(39, 54), (27, 66) ?
(A) (b1, 42) (B) (32, 62)
(C) (b1, 65) (D) (61, 55)

87. 5,7, 11,17, 23, 35, 47, ... TGS T FAH! oo 1 ;
(A) 23 (B) 17
© 1 D) 35

87. TLCS TWTSI TorElf+re M biee 34 :
5,7,11, 17, 23, 85, 47

(A) 23 (B) 17
€) 11 (D) 35
87. 5,7, 11,17, 23, 35, 47 WIS MU Fol ' STHM fereremg AR ?
(A) 23 (B) 17
€ 1 (D) 35
SPACE FOR ROUGH WORK
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87. *[@ 5, 7,11, 17, 23, 35, 47 T TTAd @1 T UE T8 |

(A) 23 B) 17
) 11 (D) 35
87. Identify the term that is incorrectly placed in the series 5, 7, 11, 17, 23, 35,
47.
(A) 23 B) 17
© 11 (D) 35

88. BFEC, KONL, PT # Q *R¥&II(GR # T 513 (106! LA 3 I2ai wiifarq 2
@) S B) U
© R (D) D

88. (@ Il # 9% B efozi+e 2@ 2
BFEC, KONL, PT # Q

a) S B U
€ R D) D
88. € ERANI BN Y # @ Aet=-l g1 ? BFEC, KONL, PT # Q ?
4 s B) U
€ R D) D
88. @M @1 378X BFEC, KONL, PT # Q H # <1 irg o ?
a) S B U
©) R (D) D
88. Which letter should replace # in BFEC, KONL, PT#Q ?
(A) S B) U
(C) R (D) D

89. 13 [l 100 (31 I FRYGIR A SrSTs 2 SRAGIF (PRI B a1ifar 2

(A) 12 (B) 15
(©) 10 (D) 13
SPACE FOR ROUGH WORK
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89. 1 (TP 100 7RIS o 3y @R AR ‘2” o (o140 2(q ?
(A) 12 B) 15
©) 10 (D) 13
89. 1T wE 100 fam foam S smfsmTHE @Had 2 @t f@ e ?
(A) 12 B) 15
©) 10 (D) 13
89. 1% 100 I I Tx TNl ! forgd a0 ‘2’ ol ferat ar ot stmam 2
A 12 B) 15
©) 10 (D) 13
89. While writing the even numbers from 1 to 100, how many time ‘2° will be
written ?
(A 12 B) 15
© 10 D) 13
90. «b! PGS (I Bl Y ™ BN Yo faged e T Sereql 27 |
3 Shreal fagem I R4yl W 27
@A 5 B) 6
<6 7 D) 8
90. I PISCER @ @I g6 AR [HiE T ©F 14y M@ @& FHToeF fqos Fhs
&9 41 291 | G M fqger (P (@1 41 A 2
@ 5 B) 6
© 7 D) 8
90. TWHE ImaErrterEt fafy fuRaffemest smafam qremesme sm'T aEm | 9 IEfes
He™ STRETFIYM g& T T ?
@A 5 B) 6
© 7 D) 8
SPACE FOR ROUGH WORK
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90. Teh CHYS i 3T Th I & BT & &9 | Hred TN | 39 TWE hied W FHepard! By i
T g
A4) 5 B) 6
© 7 D) 8
90. Cut out a Decagon through one of its vertices, in the form of triangles. Total
number of triangle cut-outs will be
A) 5 (B) 6
© 7 D) 8
91. STYESICF AL JACH! OIS 1
(&) oo e (B) WIS : aiffrs
(C) BIRH : T (D) TG : AT
91. wTw (o fbfes 79 :
&) %5 : frem (B) wieg : oiffre
(C) DIy : Ffl (D) &b : 3RS
91. TRIRATHT @SR S@! AR ?
(A) = : fafimm (B) IRWE : GG
(C) =TvTe : THYE (D) =N : <@l
91. TeTd Gaferd I <hl TE=H hIRT ;
(A) = : fomm (B) 3TRiwg : v
(C) ST9TeR ; Shierar (D) WIS ; T
91. Identify the incorrectly matched pair :
(A) Newton : Science (B) Aryabhatta : Mathematics
(C) Chanakya : Poetry (D) Mozart : Music
SPACE FOR ROUGH WORK
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92.

92.

92.

92.

92.

T PR @b Fa o 391 =051 oeire 4 -

A) Ta@® (Diplomacy) (B) sif/s (Mathematics)

(C) @~'af& (Apology) (D) TIEICEWS (Callisthenics)
T =115 To Pls (s @I of fofere 1

(A) B2t (Diplomacy) (B) aifre *@ (Mathematics)
(C) «@'af& (Apology) (D) WifeTcE«s1 (Callisthenics)
TSI WIS BIRE! BRATT diee! TR ?

(A) fewmfar (Diplomacy) (B) #umfed (Mathematics)
(C) WA (Apology) (D) HferAfed (Callisthenics)
3 I1sC 1 TEH i 91l 3 HIIAT o &7 ! Teiiid LT

(A) Tt (Diplomacy) (B) #omfesm (Mathematics)
(C) WAt (Apology) (D) hferedfyed (Callisthenics)
Identify the term which refers to an area of higher studies :

(A) Diplomacy (B) Mathematics

(C) Apology (D) Callisthenics

93.

I @F @S BEC I 9% ‘books are old’, EDF ¥ 94 ‘man is old’ ¢ CGH &
‘buy good books’ WQTW | RIS ‘books’ I (FIT (R :

A B (B) C
C€) E D) D

93. 3 MF® BEC @R ‘books are old’, EDF @R ‘man is old’ €32 CGH @RI
‘buy good books’ | ‘books’ *HAHF &+ ITTS TS :
A B B C
(C) E D) D
SPACE FOR ROUGH WORK
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93.

o8 Hig 3@ (code) BEC T 3tifusn Smam “fesieet mem” EDF 1 3nifysn smem
‘i Sg” AW CGH 7 3nifysn S “mem faemewiat s | “faemewrE”
YT IS T

(A) B B) C

© E D) D

93. Tl ush s & BEC &1 319 &, ‘books are old’, EDF &1 319 2, ‘man is old’ 31t CGH
&1 3L B, ‘buy good books’. ‘books’ & fTU HIE R :
(A) B B) C
© E D) D
93. In a code, BEC means ‘books are old’, EDF means ‘man is old and CGH
means ‘buy good books’. The code for ‘books’ is
A B B) C
© E M) D
94. [frre TR KoM 1
A=2C
A+3C=2C+G
7C=2A+G
fRfeIfi® @G 2G T2 ?
(A) 2A (B) 3A
(C) 2A +3C (D) 3A+2C
94, et orhestetl fRTanel 359 :
A=2C
A+3C=2C+G
7C=2A+G
e SeartreTT™ e (@R 2G @7 I 2
(A) 2A (B) 3A
(C) 2A+3C (D) 3A+2C
SPACE FOR ROUGH WORK
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94.

94.

94.

TERTE BT AHICIGBRE! SET ATl
A=2C
A+3C=2C+G
7C=2A+G
TERH 58 THE3T 2G: S 99
@A) 2A (B) 3A
(C) 2A+3C (D) 3A+2C
Freferiaa degi o faam & :
A=2C
A+3C=2C+G
7C=2A+G
freforfiea ® & %F 2G % e g ?
(A) 2A (B) 3A
(C) 2A+3C (D) 3A+2C
Consider the following relations :
A=2C
A+3C=2C+G
7C=2A+G
Which among the following is equal to 2G ?
(A) 2A (B) 3A
(C) 2A+3C (D) 3A+2C

95.

W “FYIFT” *AGI R * T GO TS, (S0 ASE TS *75! faferie
CRRITCH! %=1 CTCS TIFe 27 ?

@A) f&s (B) =¥

(C) o D) wa

95. IM “FGFGI” *HML “TPT” 4T AT THFS OF “WIFR” IPTSE@ w7 @0 7
TGS ?
(A) &0 B) =
(C) THI D) =l
SPACE FOR ROUGH WORK
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95.

95.

fe ‘et a1 “ara’” S ) €, st MRt FAe 0" e e wi) e ¢
(A) Torehe (B) &

(©) Feam (D) =

“SheFe W& ‘TR’ Weg § T8 i "etud 7, 3 3 @ Wl fefafaa fea we @
el g ?

(A) fhehe (B) @ihl

(C) Bedard (D) TS

95. If “Conductor” is related to “Bus”, then “Referee” is related in a similar way

to which of the following ?

(A) Cricket (B) Hockey

(C) Football (D) Chess
96. TR CHIFCB! *<1 ST =79 PO e ?

(A) SBTCU (B) MBNCP

(C) EBFCG (D) PBQCR
96. 10 TCRIIS *[w3feTq A&y (il #1115 ST (A0 few 2

(A) SBTCU (B) MBNCP

(C) EBFCG (D) PBQCR
96. TERI & WY HICET TEHHRST TG ?

(A) SBTCU (B) MBNCP

(C) EBFCG (D) PBQCR
96. fr=fIRad o § i 1 7168 GO | A & ?

(A) SBTCU (B) MBNCP

(C) EBFCG (D) PBQCR
96. Which of the following words is different from others ?

(A) SBTCU (B) MBNCP

(C) EBFCG (D) PBQCR

SPACE FOR ROUGH WORK
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97. W 3249685 MG SHRENF THEATS FEEN BF (S0F [BAF AT SR B
Ao ¢2 AR 2
A 72 (B) o<
(C) fofq D) @
97. 3249685 MBI AW SHEPIE ASI] B, & FI6 FO6 AR Zl GP2IPw
QPR ?
A 720 (B) ol
(C) foufo D)
97. dfg 3249685 AR foam STHERET Amiean AHed fsaman maf uef smea
AT AT 2
(A) = (B) st
(C) ==Y™ (D) "=E
97. e T 3249685 % Iehi ! TR oA T SAafead fora STQ, dt fohaw 37ent Y feurfa gam
@t ?
@A) (B) =)
(C) = D) T
97. If the digits of the number 3249685 are arranged in ascending order, the
position of how many digits would remain the same ?
(A) Two (B) Four
(C) Three (D) One
98. “3:A:90::3:B:1095” S ¢ & 91 QI9PIA 2%« TR A &iF B 7 512 5 6 3123 2
A) w7, I=I (B) wI, 9Ol
(©) =7, e D) e, 0!
SPACE FOR ROUGH WORK
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98.

e g efes @ A @9 B O R[S R e 2
“3:A:90::3:B:1095”

(A) I, IR (B) =PI, S0l
(C) I, o (D) e, 951
98. “3:A:90::3:B:1095” Wl I WSt S A 3R B @ MR sesil HietrE = gni
(A) T, SR (B) TH, T
(C) IR, §H (D) @M, &=
98. “3:A:90::3:B:1095” § qehuTTd Tae TG hid o feTw A 3T B o1 o wfcreenfuad s 2
(A) TEHT, |1 (B) wEHI, =
(C) =, fea D) fed, =
98. What would replace A and B in order to establish a logical connection in
“3:A:90::3:B:1095” ?
(A) Month, Year (B) Month, Hour
(C) Year, Days (D) Days, Hours
99. AT (PG A ST TS fafe ?
A 729 (B) 512
(C) 232 D) 125
99. G SAl¥® @ =1 Sy (e fom 2
A) 729 (B) 512
(C) 232 D) 125
99. TTERIM ST ARSI TS ?
A 729 (B) 512
(C) 232 D) 125
SPACE FOR ROUGH WORK
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99. Fr=farfad & & wi €t den 3= g e T R 2
(A) 729 (B) 512
(C) 232 (D) 125
99. Which of the following numbers is unlike the others ?
(A 729 (B) 512
(C) 232 D) 125
100. T “WI9 S S 2IPIce g ez Sned 3T, “(ordeq GG Sige ([N

100.

100.

100.

100.

%93 et e | A Al s_IS! (2t T |

A) I (B) weifas
© Fro D) &

AL AP e Mo T TRl e, “Ol GNIE ©iR 2 SN [ead relq el 17
AL #{15% BCEA T :

(A) Prerz (B) wifeel
(C) foret D) T

fefa ferata e Rt 3 o1 Iegen gat, “faf waw amersn o1 s
T forr | Ieet TeTe wUrwTSt w1 "l ?

(&) et (B) ferame

(C) ferw (D) o

At BhF T RIS I 3T IR L §U 3¢T Hed &, ‘ST Soheildl WTg W o o far
fiar 8 17 eRist 3T 1 2l

A) <« (B) st

(C) fuan (D) ==

Pointing to the newsreader on TV screen, Uday says, “ His only brother is the
father of my son’s father.” The newsreader is Uday’s

(A) Grandfather (B) Nephew

(C) Father (D) Uncle

SPACE FOR ROUGH WORK
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